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NEW QUESTION 1
Which two Cisco products remediate network, cloud, and endpoint threats? (Choose two.)

A. Duo

B. Identity Services Engine
C. Stealthwatch

D. Cisco Security Connector
E. AMP for Endpoints

Answer: BC
Explanation:

https://www.cisco.com/c/en_ae/products/security/portfolio.html#~stickynav=2

NEW QUESTION 2
What are two ways Cisco addresses customers' growing business needs? (Choose two.)

A. Multi/hybrid cloud platforms

B. Highly-scalable DC platforms

C. Bulletproof NGFW appliances

D. Consolidated tracking and reporting
E. Multiple solution deployment choices

Answer: AB

NEW QUESTION 3
Which two security risks are created by legacy approaches to networking? (Choose two.)

A. network downtime
B. user vulnerability
C. access points

D. slow containment
E. large attack surface

Answer: BC

NEW QUESTION 4

Which three factors should a customer consider when choosing the ideal security solution provider? (Choose three.)

A. Creates new market opportunities

B. Delivers excellent partner and customer support
C. Generates higher margins on each sale

D. Provides solutions at the lowest cost

E. Offers more than just niche products

F. Is committed to security

Answer: BEF

NEW QUESTION 5
What is an attribute of Cisco Talos?

A. Detection of threats communicated within 48 hours of occurrence
B. Blocks threats in real time

C. Real-time threat information

D. 3rd party applications integrated through comprehensive APIs

Answer: C

NEW QUESTION 6

In which two ways has digitization transformed today's security threat landscape? (Choose two.)
A. Expanding complexity

B. Growing ecosystem

C. Decreasing endpoint ecosystem

D. Decreasing 3rd party applications

E. Decreased access points

Answer: AB

NEW QUESTION 7

Which statement embodies trust-centric security?

A. Verify before granting access via MDM software
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B. Prevent attacks via an intelligence-based policy, then detect, investigate, and remediate
C. Protect users from attacks by enabling strict security policies.

D. Verify before granting access via identity-based policies for users, devices, app

E. and locations

Answer: D

NEW QUESTION 8
Which network security product provides a unified image on an intuitive interface?

A. Next-Generation Intrusion Prevention System
B. Advanced Malware Protection

C. Cloudlock

D. Firepower Threat Defense

Answer: B

NEW QUESTION 9
What are two key Cisco loT use cases? (Choose two.)

A. Mobile Utilities

B. Financial Institutions
C. Parks and Recreation
D. Industrial Security

E. Connected Health

Answer: BE

NEW QUESTION 10
Which two types of recurring revenue sales does Cisco offer? (Choose two.)

A. Platform subscription sale
B. License sale

C. Portfolio

D. Subscription sale

E. Training

Answer: BD

NEW QUESTION 10
Which three products are Cisco Advanced Threat solutions? (Choose three.)

A. Stealthwatch

B. Web Security

C. Remote Access VPN

D. ThreatGrid

E. Advanced Malware Protection (AMP)

F. Next-Generation Firewall (NGFW)

G. Next-Generation Intrusion Prevention System (NGIPS)

Answer: ABG

NEW QUESTION 15
What are two ways that Cisco helps customers balance protection and accessibility? (Choose two )

A. Leverage integrated tools and dynamic context to enforce policies
B. Reinforce device infrastructure with an extensive security portfolio
C. Provide vital training to ensure a skilled workforce.

D. Analyze user and device vulnerability.

E. Manage risk more effectively across the environment.

Answer: AC

NEW QUESTION 17
Which three products are Cisco Visibility & Enforcement solutions? (Choose three.)

A. Web Security

B. AnyConnect

C. TrustSec

D. Identity Services Engine (ISE)

E. Next-Generation Firewalls (NGFW)

F. Next-Generation Intrusion Prevention System (NGIPS)
G. Advanced Malware Protection (AMP) for Endpoints

Answer: ACE
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NEW QUESTION 18
What are two steps customers can take to evolve to a trust-centric security philosophy? (Choose two.)

A. Limit internal access to networks.

B. Require and install agents on mobile devices.

C. Always verify and never trust everything inside and outside the perimeter.
D. Block BYOD devices.

E. Only grant access to authorized users and devices.

Answer: AE

NEW QUESTION 20
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